A
X XH -
(=

(==J
&2 SRS MHH A &4

(ctol: @

SH B (BH) - NEMY - BES Ol &4 24 oIE o HRS2
==, 112,400,717 100,076, 120 12,324,597
= 41,565,032 34,640,275 6,924,757
s 30,150,452 30,368,000 A 217,548
J| 4,439,000 4,439,000 0
EN 72,000 72,000 0
= 36,174,233 30,556,845 5,617,388
NEHH HH(LELSR/UHERE - EFSIIHY) 51,840,662 39,568,077 12,272,585
= 9,765,032 2,840,275 6,924,757
s 9,540,452 9,758,000 A 217,548
J| 4,439,000 4,439,000 0
= 28,096,178 22,530,802 5,565,376
HEwnsSMHlA &at 29,818,617 24,249,699 5,568,918
= 9,694,232 2,746,800 6,947,432
s 8,159,000 8,813,000 A 654,000
J| 4,439,000 4,439,000 0
= 7,526,385 8,250,899 AT24,514
thsws AMHIA e 641,872 675,816 A 33,944
202 O4dl 7,000 29,750 A22,750
01 = LHA Bl 7,000 29,750 222,750
ozsnE 28 ¥ NFEUAY Xl 0 10,200 A 10,200
O & SIESXNSI 2+AE N 7,000 19,550 212,550
207 O] 116,306 126,000 A9,694
01 2 E9H| 116,306 126,000 29,694
OuWsSAX Ols®o S& XNEHE =8 &4 40,306 50,000 A 9,694
403 AXIEHHSH201 & 461,666 463, 166 A 1,500
01 HXEMAEE X 461,666 463, 166 A 1,500
OEBHEEAl 243t 75,750 77,250 A 1,500
BIAl ZXEAAML (1) 253,500 156,000 97,500
= 253,500 156,000 97,500
308 A EHSOIA 253,500 156,000 97,500
= 253,500 156,000 97,500
01 HXESHILAEXS 253,500 156,000 97,500
OHAIZX X3 253,500 156,000 97,500
= 253,500 156,000 97,500
HASEX X XN (212) 3,095,000 4,185,000 A 1,090,000
s 1,857,000 2,511,000 A 654,000
= 1,238,000 1,674,000 A 436,000
403 XSS 201 H 3,095,000 4,185,000 A 1,090,000
s 1,857,000 2,511,000 A 654,000
= 1,238,000 1,674,000 A 436,000
01 RXIEXM A2 E = 3,095,000 4,185,000 A 1,090,000
OHASZEXIX XA 3,095,000 4,185,000 21,090,000
s 1,857,000 2,511,000 A 654,000
< 1,238,000 1,674,000 A 436,000
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M DSH
HH: DS W (RSLESF/HELE - S7SIIEH
&2 SRS MHH A &4 (ol &8 &)
M -Z3H-4A(3A) - NREAY - BES Off &F 4 INEH Husz
RZL19 el =k =85 49 2,025,430 2,280,000 A 254,570
201 L2 | 2,025,430 2,280,000 A 254,570
01 At 22|l 2,025,430 2,280,000 A 254,570
OZZUH19 oo =X =& EH 2,025,430 2,280,000 A 254,570
YEWEINE N (=1) 3,000 1,500 1,500
= 3,000 1,500 1,500
308 AFXIEHH S 01 & 3,000 1,500 1,500
= 3,000 1,500 1,500
01 X3 E2xS 3,000 1,500 1,500
dEWNSIHE XN 3,000 1,500 1,500
= 3,000 1,500 1,500
HHHAIIAN ASHETSAHA(21) 1,405,700 0 1,405,700
= 1,405,700 0 1,405,700
301 LetEA S 1,405,700 0 1,405,700
= 1,405,700 0 1,405,700
01 A EEH %353 1,405,700 0 1,405,700
OENBIAJIAL ASCHE XS X&E 1,405,700 0 1,405,700
= 1,405,700 0 1,405,700
HADJIAL OFA X2 AIE (=12) 112,932 0 112,932
= 112,932 0 112,932
206 M =4l 112,932 0 112,932
= 112,932 0 112,932
01 M= 4l 112,932 0 112,932
OWHAIIAL OtA3 XA 112,932 0 112,932
= 112,932 0 112,932
X LELEHAIDIAL 212 DEXEXA(Z2 D) 1,779,400 0 1,779,400
= 1,779,400 0 1,779,400
301 et2d = 1,779,400 0 1,779,400
= 1,779,400 0 1,779,400
01 AZI2E3H 363 1,779,400 0 1,779,400
O3t LEHEAAIDIAL 22 DEXEH XA 1,779,400 0 1,779,400
= 1,779,400 0 1,779,400
CHEHAIIA SHAIKIRE (=21) 1,556,800 0 1,556,800
= 1,556,800 0 1,556,800
301 LetE2AZ 1,556,800 0 1,556,800
= 1,556,800 0 1,556,800
01 A2 EH %353 1,556,800 0 1,556,800
OB AJIAF BHAIXIE 1,556,800 0 1,556,800
= 1,556,800 0 1,556,800
AXt LBHEHAIDIAL BEAIXIR (=2 2) 1,993,600 0 1,993,600
= 1,993,600 0 1,993,600
301 LEtEA S 1,993,600 0 1,993,600
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M DSH
HH: DS W (RSLESF/HELE - S7SIIEH
&2 SRS MHH A &4 (ol &8 &)
SH-BH-SRA(BH) - MBAY - B O &k 2 p/E-T" HpmE=ED
= 1,993,600 0 1,993,600
01 ISl EZ X =5l = 1,993,600 0 1,993,600
O4Xt LBHELAIDIAL BHAIXI A 1,993,600 0 1,993,600
= 1,993,600 0 1,993,600
=swns MEXA 21,546,745 14,813,600 6,733,145
s 1,381,452 945,000 436,452
= 20,165,293 13,868,600 6,296,693
NAHAZ2SAY HEXA 13,142,000 6,930,000 6,212,000
307 21=2+01 A 13,142,000 6,930,000 6,212,000
09 2+HHEXS 13,142,000 6,930,000 6,212,000
OANM2ABA2SAY HEXE 12,000,000 5,400,000 6,600,000
OAABHA 23ALL Z20HH WA XA 1,142,000 1,530,000 A 388,000
MU - sHEHA2SMYE HEXR 5,983,840 6,142,600 A 158,760
308 A EHSOIA 5,983,840 6,142,600 A 158,760
01 HXESHBILAEXS 5,983,840 6,142,600 A 158,760
OANU - sHEH2A 2BALA 220A KA 483,840 642,600 A 158,760
HALd &sAMBA(=1) 2,272,450 1,545,000 727,450
s 1,381,452 945,000 436,452
= 890,998 600,000 290,998
308 AHXIEHH SOl ™ 2,272,450 1,545,000 727,450
s 1,381,452 945,000 436,452
T 890,998 600,000 290,998
O1 IXESHHBHEEXS 2,272,450 1,545,000 727,450
OgElld &2 2,272,450 1,545,000 727,450
s 1,381,452 945,000 436,452
< 890,998 600,000 290,998
HASSAGER dE-N=2H HEEY 88,455 110,000 A21,545
207 A 51K &l 88,455 110,000 A21,545
01 A8 88,455 110,000 A21,545
OHAZSAEXN =X BSES 88,455 110,000 A21,545
HA2SASER LR A AAE(BCS) FA22 0 26,000 A 26,000
=
201 L2 | 0 26,000 A 26,000
02 2329l 0 26,000 A 26,000
OBCSEAAIAE RA22 24 0 26,000 A 26,000
WEAND E01J] AIMF=ZX 358,300 387,778 AN29,478
= 70,800 93,475 AN22,675
= 287,500 294,303 26,803
HAXNSHsSEX X XN (21) 39,000 68,478 N29,478
= 30,000 52,675 N22,675
= 9,000 15,803 26,803
403 AXIEHHS 201 & 39,000 68,478 N29,478
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M -Z3H-4A(3A) - NREAY - BES Off &F 4 INEH Husz
= 30,000 52,675 N22,675
LS 9,000 15,803 26,803
01 HXESH 2L = 39,000 68,478 A29,478
OAMNYE & HIANSHSEX & XN 39,000 68,478 N29,478
= 30,000 52,675 N22,675
& 9,000 15,803 N6,803
NSHEEF HE(NSHER/E2) 60,465,000 60,415,000 50,000
= 31,800,000 31,800,000 0
s 20,610,000 20,610,000 0
e 72,000 72,000 0
S 7,983,000 7,933,000 50,000
WEATAL &= 60,465,000 60,415,000 50,000
= 31,800,000 31,800,000 0
s 20,610,000 20,610,000 0
e 72,000 72,000 0
= 7,983,000 7,933,000 50,000
HEloIEs Y AHAL #FE(AI2) 650,000 600,000 50,000
403 AXIESHH S =01 & 650,000 600,000 50,000
01 tXIESH 2L = 650,000 600,000 50,000
O0B 027 AMEALE &S 650,000 600,000 50,000
Y2 ZH (S H)(OIEH/IIE) 30,046 33,432 A3,386
Jl=2ZHl 30,046 33,432 N 3,386
FA2YE JI23H 30,046 33,432 N 3,386
202 O Hl 2,770 6,156 N 3,386
01 SO I 2,770 6,156 N 3,386
OFMEE =Y 2,770 6,156 A 3,386
Hegs(nst)(nsSdS8R/MHsns - EF]SIIE) 65,009 59,611 5,398
BHEXE 65,009 59,611 5,398
NSEE gHES 65,009 59,611 5,398
802 gtet = JI Bt 65,009 59,611 5,398
01 I NEXSEES 65,009 59,611 5,398
O'208 2¥E Sgusst 2SN 3,906 0 3,906
O '20@ LBHEAAIDIA 215D EHE X & 1,492 0 1,492
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